Heat Sinks

GENERAL SPECIFICATIONS

Panel Mount

» Thermal management for solid-state relays

 Standard ratings as low as 0.4°C/W

» Custom heat sinks and assemblies available
(contact factory for details)

Description

Model Number HS-1 HS-2 HE-54 HE-90

Weight (typical) [ounces] 3 5 10 24

Material Aluminium Aluminium Aluminium Aluminium

Finish Cromate Coating D Gold Cromate Coating D Gold Cromate Coating D Gold Cromate Coating D Gold
Mounting Holes 8-32 threaded 8-32 threaded 8-32 threaded 8-32 threaded

MECHANICAL SPECIFICATIONS
HS-1

28 -
. 150
| e f405)
{17.5)
e %
. - — arTTT7 —
- ! —
S e L
.
= n ] i
n _ n TYR !
w crydomny 1| 158 w2 |
m n [4?51 i
I " 236 i
It i 185.31 I
n n N}
n i 5!
e iy : i —
| = n — [
|
- s
el >
8-32 THREADED HOLE
{2 PLACES) END VIEW
HS-1 HS-1, HS-2

1CAW)

THERMAL RESISTANCE (R, sab

HS-1, HS-2 HEAT SINK

[
=

[
o

2
(=1

-
wn

1.0

CHARACTERISTICS

0 5 10 15 20 25 I B
DISSIPATION (W)

Do not forget to visit us at: www.crydom.com

Copyright © 2009 Crydom Inc.
Specifications subject to change without notice.



T crydom Panel Mount

CUSTOM SENSORS & TECHNDLOGIES

HS-2
HS-1, HS-2 HEAT SINK
(1615 CHARACTERISTICS
| E@ 275 - I || R
cT:E 8.8 406} 30
J i s-zzTHEREALEEESHuLE g
B — T \( N e 3 =
4 "\54‘ - {1 [ % 2‘5
RS T &
3 e ) W i o
] i o i 20
L2 | cryvdom | 6 | =
3 ii :: { | g
] w i (==
S CIs i S | = 15
{ i ; ? C } l:!!_____J_ %
_I I _d.k E _é} _{-'b_ EE 10 : : : : : :
T "0 5 10 15 M %5 3 B
HS-2 END VIEW DISSIPATION (W)
HS-1, HS-2
HE-54

COMPATIBLE CRYDOM PRODUCTS
Series 1, Series CS, Series CT, Series HA Duals, Series HD, Series DC60, Series 1-DC, Series SST, Series DSD, Series DLD, Series RPC, Series
PCV.

= ) ) = B s = HE-54 HEAT SINK
- el = — e CHARACTERISTICS

~ | j=-20TYP — 218
{43) YR, 10
i =}
| . v Rl N

=

3

&

w

()

=

_________________ =

: g Fo 8-32 THREADED 7]

475 : ' §k HOLE (2 PLACES) Z
(208} | o Vi S04

456 o =t %
{1158 Ll KR Z 03

i [ ! ] x

| [ ' a ' : =

02
0 20 40 60 80 100 120 140
DISSIPATION (W)

|~y 1.81 -l 1875 -
[46.0} (47.6)
HE-54 END VIEW

Copyright © 2009 Crydom Inc.

Do not forget to visit us at: www.crydom.com Specifications subject to change without notice.



T crydorm

CUSTOM SENSORS & TECHNDLOGIES

HE-90

Panel Mount

The HE-90 heat sink offers excellent thermal management for up to three Series 1 type package SSR’s or a single three phase SSR (model 53TP). All
mounting holes are predrilled & tapped and are user configurable depending on the specific application.

HE-90 HE-90 HEAT SINK
Shown with Series 53TP Mounted CHARACTERISTICS
10
[ U U | I 3 09
— o 08 |
= &7
= 207 |
ey A : - = W HE-90
l:n\ [N :'6:' ! - — ,*Z_i 06
= U U = s — 2 g5
1 1 C %
| crydom i [ = 04 |
! Series 53TP | =
: : .' 2%
Exy n nN o [ =
) U u = T "0 2 w0 e @ 10 120 10 160 180 20
: ! [ — DISSIPATION (W)
[
l —}
N n | |
HE-90
Shown with three Series 1 type S5Rs
||hﬂmi|
500 |
L END VIEW
i -
1 U ]
2 sz PN [ e
19] 12 V5 n e
| M i = # T | B—
e = Loy i | e
Ii - ! i e ——
R e R o
50
_ﬂ ﬂ_ (E]
] 15 |_r
L EE] |
282
1915
e :
~= Compliant Rev. 011909

Do not forget to visit us at: www.crydom.com

Copyright © 2009 Crydom Inc.
Specifications subject to change without notice.



Panel Mount

A DANGER / PELIGRO / DANGER /GEFAHR / PERICOLO / PERIGO

HAZARD OF
ELECTRIC
SHOCK,
EXPLOSION,
OR ARC FLASH.
« Disconnect all
power before
installing or
working with

Verify all
connections
and replace all
covers before
tuming on
power.

Failure to follow
these
instructions will
result in death
OF Serious injury.

this equipment.

RIESGO DE RISQUE DE GEFAHR EINES RISCHIO DI RISCO DE
DESCARGA DESCHARGE ELEKTRISCHE SCOSSA DESCARGA
ELECTRICA O ELECTRIQUE N SCHLAGES ELETTRICA O ELETTRICA OU
EXPLOSION. OU EXPLOSION ODER EINER DELL’ESPLOSI EXPLOSAO
* Desconectar » Eteindre EXPLOSION. ONE. » Desconectar
todos los toutes les + Stellen Sie « Spenga tutta 0 equipamento
suministros de sources jeglichen I'alimentazion detoda a
energia a este d'énergie de Strom ab, der e che fornisce energia antes
equipo antes cet appareil dieses Gerét questa de instalar ou
de trabajar avant de versorgt, bevor apparecchiatu trabalhar com
con este equipo. travailler Sie an dem ra prima del este equipamen
MssiBisersod dessus de cet Gerét Arbeiten lavorare a questa to
+ \erificar todas I durchfiihren i
las conexiones apparel « Vorder R » Verificar todas
y colocar todas « érifier tous Inbetriebnahme « Verificare tutti as conexdes e
las tapas antes connections, et alle Anschilisse i collegamenti recolocar todas
de energizer remettre tous tiberpriifen und e sostituire as tampas
el equipo. couverts en alle Gehauseleile tutte le coperture antes de religar
olace avant de montieren. prima della o equipamento
El mettre sous rotazione
Ln::nt::miemo R sull'alimentazi one O nio c-umpnmemo
instrucciones ces instructions Unterlassung L'omissione di r.le:tals '“STWE:Q
puede provocar provoquera la dieser seguire queste :3 I:sz:rsérrll:;
la muerte o mort ou des Anweisungen istruz ioni :
lesiones serias. lésions sérieuses kénnen zum provochera la
sérieuses. Tode oder zu morte o di
schweren lesioni serie
Verletzungen
filhren.

A WARNING / AVERTISSEMENT / WARNUNG /ADVERTENCIA / AVWVERTENZA / AVISO

RISK OF MATERIAL DAMAGE AND HOT
ENCLOSURE

* The product's side panels may be hot, allow
time for product to cool before touching.

* Follow proper mounting instructions including
torque values.

» Do not allow liquids or foreign objects to enter
this product.

Failure to follow this instruction can result in
serious injury, or equipment damage.

RISQUE DE DOMMAGE MATERIEL ET DE
SURCHAUFFE DU BOITIER

* Les panneaux latéraux du produit peuvent étre
chauds. Laisser le produit refroidir avant de le
toucher.

» Respecter les consignes de montage, et
notamment les couples de serrage.

* Ne pas laisser pénétrer de liquide ni de corps
étrangers a l'intérieur du produit.

Le non-respect de cette directive peut entrainer,

des lésions corporelles graves ou des
dommages matériels.

GEFAHR VON MATERIALSCHADEN UND
GEHAUSEERHITZUNG

* Die Seitenwénde koénnen heill sein. Lassen Sie
das Produkt abkihlen, bevor Sie es berlihren.

» Beachten Sie die Montageanweisungen,

= Flihren Sie keine Flussigkeiten oder
Fremdkérper in das Produkt ein.

Die Nichtbeachtung dieser Anweisung kann
Kérperverletzung oder Materialschdden
zur Folge haben.

RIESGO DE DANOS MATERIALES Y DE
SOBRECALENTAMIENTO DE LA UNIDAD

* Los paneles laterales del producto pueden
estar calientes. Esperar que el producto se
enfrie antes de tocarlo.

* Respetar las instrucciones de montaje, y en
particular los pares de apretado.

* No dejar que penetren liquidos o cuerpos
extrafios en el producto.

Si no se respetan estas precauciones pueden
producirse graves lesiones, dafios materiales.

RISCHIO DI DANNI MATERIALI E D'INVOLUCRO
CALDO

* | pannelli laterali dell'apparecchio possono
scottare; lasciar quindi raffreddare il prodotto
prima di toccarlo.

» Seguire le istruzioni di montaggio corrette.

* Non far entrare liquidi o oggetti estranei in questo
apparecchio.

La mancata osservanza di questa precauzione pud
causare gravi rischi per l'incolumita personale o
danni alle apparecchiature.

RISCO DE DANO MATERIAL E DE AQUECIMENTO

* Os painéis laterais do produto podem estar
quentes; dé tempo ao produto para arrefecer
antes de |he tocar.

+ Siga devidamente as instrugdes de montagem.

* N&o permita a entrada de liquidos e de objectos
estranhos no produto.

A ndo observancia destas precaugdes pode
provocar a morte, ferimentos graves ou
danos materiais.

Do not forget to visit us at: www.crydom.com

Copyright © 2009 Crydom Inc.
Specifications subject to change without notice.




CUSTOM SENSORS & TECHNDLOGIES

T crydorm

ANNEX - ENVIROMENTAL INFORMATION

The environmental information disclosed in this annex including the EIP

Pollution logo are in compliance with People’s Republic of China Electronic
Industry Standard SJ/T11364 — 2006, Marking for Control of Pollution

Caused by Electronic Information Products.

Panel Mount

Toxic or hazardous Substance and Elements
Part Lead | Mercury | Cadmium | Hexavalent | Polybrominated | Polybrominated
Name (Pb) (Ha) (Cd) Chromium biphenyls diphenyl ethers
(Cr (V1)) (PBB) (PBDE)
Semlcgir;ductor 0 0 o o 0 o
Solder o ¢} 0 o 0 e}
PR BT b7 B B3 o105 B s R B AR OR AR B
e NRICRE AT bR#E SJT11364 - 2006,
B {5 B S5 R bR R R
- AT YT %
gy w ] R | W | A0k | Bk LA
) (Pb) | (Hg) | (Cd) (Cr (V1)) (PBB) (PBDE)
PSR (0] 0] (9, (0] 0] 0]
) 0] 0 @] 0] 0] 0

Do not forget to visit us at: www.crydom.com

Copyright © 2009 Crydom Inc.

Specifications subject to change without notice.



